
1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

H H

G G

F F

E E

D D

C C

B B

A A

Belt Clip Bag Rev B

NOTES:  

DRAWN BY: Rory Aronson, 2024-12-21

COMPANY: FarmBot Inc

LICENSE: CC0 Public Domain Dedication

PROJECTION: First Angle

UNITS: Millimeters

SCALE: 1:1

SHEET: 1 of 11

SIZE: A3

Item Internal Part Name Rev Quantity
1 Belt Clip - Slim B 6

2 Belt Sleeve A 6

3 Nut Bar - 20mm A 6

4 Belt Clip Dampener O-Ring - 1.5mm Thickness x 12mm ID A 6



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

H H

G G

F F

E E

D D

C C

B B

A A

Rotary Tool Accessory Bag Rev C

NOTES:  

DRAWN BY: Rory Aronson, 2024-12-21

COMPANY: FarmBot Inc

LICENSE: CC0 Public Domain Dedication

PROJECTION: First Angle

UNITS: Millimeters

SCALE: 1:1

SHEET: 2 of 11

SIZE: A3

Item Internal Part Name Rev Quantity

1 Rotary Tool Chuck 1

2 Rotary Tool Chuck Adapter B 1

3 Rotary Tool Shaft Extension B 1

4 Rotary Tool Trimmer 30



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

H H

G G

F F

E E

D D

C C

B B

A A

Seeder Accessory Bag Rev B

NOTES:  

DRAWN BY: Rory Aronson, 2024-12-21

COMPANY: FarmBot Inc

LICENSE: CC0 Public Domain Dedication

PROJECTION: First Angle

UNITS: Millimeters

SCALE: 1:1

SHEET: 3 of 11

SIZE: A3

Item Internal Part Name Rev Quantity

1 Luer Lock Needle - 16 Gauge A 3

2 Luer Lock Needle - 19 Gauge A 3

3 Luer Lock Needle - Cover 6



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

H H

G G

F F

E E

D D

C C

B B

A A

Hardware Bag - Genesis Rev D

NOTES: N/A

DRAWN BY: Rory Aronson, 2024-12-21

COMPANY: FarmBot Inc

LICENSE: CC0 Public Domain Dedication

PROJECTION: First Angle

UNITS: Millimeters

SCALE: 1:1

SHEET: 4 of 11

SIZE: A3

Item Internal Part Name Rev Quantity
1 M5 Flange Locknut 10

2 M5 x 4mm Setscrew 25

3 M5 x 10mm Screw 15

4 M5 x 12mm Screw 8

5 M5 x 16mm Screw 10

6 M5 x 20mm Screw 4

7 M5 x 25mm Screw 2

8 Wood Screw - T25 x 25mm 35

9 Flathead Wood Screw - T10 x 25mm A 2



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

H H

G G

F F

E E

D D

C C

B B

A A

Hardware Bag - Genesis XL Rev D

NOTES: N/A

DRAWN BY: Rory Aronson, 2024-12-21

COMPANY: FarmBot Inc

LICENSE: CC0 Public Domain Dedication

PROJECTION: First Angle

UNITS: Millimeters

SCALE: 1:1

SHEET: 5 of 11

SIZE: A3

Item Internal Part Name Rev Quantity
1 M5 Flange Locknut 10

2 M5 x 4mm Setscrew 55

3 M5 x 10mm Screw 15

4 M5 x 12mm Screw 8

5 M5 x 16mm Screw 18

6 M5 x 20mm Screw 4

7 M5 x 25mm Screw 2

8 Wood Screw - T25 x 25mm 55

9 Flathead Wood Screw - T10 x 25mm A 2



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

H H

G G

F F

E E

D D

C C

B B

A A

40mm Nut Bar Bag - Genesis Rev A

NOTES: N/A

DRAWN BY: Rory Aronson, 2024-12-21

COMPANY: FarmBot Inc

LICENSE: CC0 Public Domain Dedication

PROJECTION: First Angle

UNITS: Millimeters

SCALE: 1:1

SHEET: 6 of 11

SIZE: A3

Item Internal Part Name Rev Quantity
1 Nut Bar - 40mm A 5



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

H H

G G

F F

E E

D D

C C

B B

A A

40mm Nut Bar Bag - Genesis XL Rev A

NOTES: N/A

DRAWN BY: Rory Aronson, 2024-12-21

COMPANY: FarmBot Inc

LICENSE: CC0 Public Domain Dedication

PROJECTION: First Angle

UNITS: Millimeters

SCALE: 1:1

SHEET: 7 of 11

SIZE: A3

Item Internal Part Name Rev Quantity
1 Nut Bar - 40mm A 11



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

H H

G G

F F

E E

D D

C C

B B

A A

60mm Nut Bar Bag Rev A

NOTES: N/A

DRAWN BY: Rory Aronson, 2024-12-21

COMPANY: FarmBot Inc

LICENSE: CC0 Public Domain Dedication

PROJECTION: First Angle

UNITS: Millimeters

SCALE: 1:1

SHEET: 8 of 11

SIZE: A3

Item Internal Part Name Rev Quantity

1 Nut Bar - 60mm B 4



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

H H

G G

F F

E E

D D

C C

B B

A A

Assembly Tools Bag Rev B

NOTES: N/A

DRAWN BY: Rory Aronson, 2024-12-21

COMPANY: FarmBot Inc

LICENSE: CC0 Public Domain Dedication

PROJECTION: First Angle

UNITS: Millimeters

SCALE: 1:1

SHEET: 9 of 11

SIZE: A3

Item Name Quantity

1 2.5mm Hex Key 1

2 2mm Hex Key 1

3 8mm Thin Wrench 1

4 T25 Bit 1

5 T10 Bit 1



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

H H

G G

F F

E E

D D

C C

B B

A A

Packed Parts Box - Genesis v1.8 Rev A

NOTES: N/A

DRAWN BY: Rory Aronson, 2024-12-21

COMPANY: FarmBot Inc

LICENSE: CC0 Public Domain Dedication

PROJECTION: First Angle

UNITS: Millimeters

SCALE: 1:2

SHEET: 10 of 

11

SIZE: A3

Item Internal Part Name Rev Quantity
1 Parts Box - Genesis and Genesis XL v1.7 A 1

2 Getting Started + Calibration Card A 1

3 Cable Carrier Mount - 60mm A 1

4 Belt Clip Bag B 1

5 Rotary Tool Accessory Bag C 1

6 Seeder Accessory Bag B 1

7 MicroSD Card Adapter and Case 1

8 Seed Trough A 2

9 Assembly Tools Bag B 1

10 Hex Driver - 3mm 1

11 Garden Hose to Barb Adapter A 1

12 Rubber Gasket - 3/4" 1

13 60mm Nut Bar Bag A 1

Item Internal Part Name Rev Quantity
14 Motor Cable - X2, 2.3m (Genesis) A 1

15 Encoder Cable - X2, 2.3m (Genesis) A 1

16 Gantry Joining Bar A 1

17 Nut Bar - 160mm A 3

18 Hardware Bag - Genesis D 1

19 40mm Nut Bar Bag - Genesis A 1

20 LED Strip - 24V, 1.5m (Genesis) B 1

21 GT2 Timing Belt - 4.5m 2

22 GT2 Timing Belt - 1.7m 1

Fill extra space with 30lb 
recycled kraft paper

Genesis Specific Items



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

H H

G G

F F

E E

D D

C C

B B

A A

Packed Parts Box - Genesis XL v1.8 Rev A

NOTES: N/A

DRAWN BY: Rory Aronson, 2024-12-21

COMPANY: FarmBot Inc

LICENSE: CC0 Public Domain Dedication

PROJECTION: First Angle

UNITS: Millimeters

SCALE: 1:2

SHEET: 11 of 

11

SIZE: A3

Item Internal Part Name Rev Quantity
1 Parts Box - Genesis and Genesis XL v1.7 A 1

2 Getting Started + Calibration Card A 1

3 Cable Carrier Mount - 60mm A 1

4 Belt Clip Bag B 1

5 Rotary Tool Accessory Bag C 1

6 Seeder Accessory Bag B 1

7 MicroSD Card Adapter and Case 1

8 Seed Trough A 2

9 Assembly Tools Bag B 1

10 Hex Driver - 3mm 1

11 Garden Hose to Barb Adapter A 1

12 Rubber Gasket - 3/4" 1

13 60mm Nut Bar Bag A 1

Item Internal Part Name Rev Quantity
14 Motor Cable - X2, 3.8m (Genesis XL) A 1

15 Encoder Cable - X2, 3.8m (Genesis XL) A 1

16 Gantry Joining Bar A 2

17 Nut Bar - 160mm A 6

18 Hardware Bag - Genesis XL D 1

19 40mm Nut Bar Bag - Genesis XL A 1

20 LED Strip - 24V, 3.0m (Genesis XL) B 1

21 GT2 Timing Belt - 7.5m 2

22 GT2 Timing Belt - 3.2m 1

Fill extra space with 30lb 
recycled kraft paper

Genesis XL Specific Items


